Roll No. 25619-MJ

B.Sc. VI SEMESTER [MAIN/ATKT] EXAMINATION

MAY- JUNE 20235
STATISTICS

[Design of Experiments]
[Major Subject]

[Max. Marks : 60] [Time : 3:00 Hrs.]

Note : All THREE Sections are compulsory. Student should not write any thing on question paper.
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[Section - A]

This Section contains Multiple Choice Questions. Each question carries 1 Mark. All
questions are compulsory.
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Q. 01

Q. 02

Q. 03

In the given model y;j = u + oy + Ej;. If the effect of o 1s fixed than the model
1s known as -

a) Mixed effect model b) Fixed effect model

¢) Random effect model d) None of these

T 80 yy=p+oy + By ™ IR oy BT 99 T 8 91 S 1T 2 —
a) e yvrg b) T e

¢) IZFEE YT d) SRIFT H F B T8l
Which principles of design of experiment are effective in RBD -

a) Randomization b) Replication

¢) Local control d) Both (a) and (b)

AERegRd WSk AfMHTl (RBD) H GIEU &1 SIWEeUl &1 B Al
IERRICTEI IR

a) AT IR b) YT UGN

¢) WM™ E d) (a) &R (b) TAI
Replication 1in an experiment eliminate -

a) Human bias b) Heterogeneity among blocks
¢) Competitions among d) None of these

neighbouring plots
TINT # g7 WANT BeRl 8 —
a) HEAII eTuTd by el ¥ frear
¢) TSI & B Hey it d) SWRFT H 9 BIE T8t
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Q. 04 [n KxK Latin square the error d.f. in analysis of variance is equal to -

KxK @1 oifesd avf aifispon 4 gavor & fagemor # e &) wWiaay aifedf

BRI —
a) (k-1)(k-2) b) kk-1)(k-2)
0 (k*-2) d) ky-k-2
Q. 05 in 27 factorial design the interaction effect AB is given by -
2" qgeUET AfiBeysT § aFgIN fhaT gug AB far wmar € —
2) %(aﬂ)(b—l) Bl Tm-1
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[Section - B]

This Section contains Short Answer Type Questions. Attempt any five questions in this
section in 200 words each. Each question carries 7 Marks.
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Q. 01

Q. 02

Q. 03

Q. 04

Q. 05

Define analysis of variance (ANOVA).
AR faeeloy ol gReTfta S5 |

Give the mathematical model for one way classified data. Also write its
assumptions.

U g HHB! ® [ iR freel SIS | g9t A | ok |

What do you mean by CRD ? Give its layout and also write its merits and
demerits.

AU AEedd AfGeU ¥ oY -1 §HeId & 7 §9d! W Sl &R
AU Y g 0T AR T forfRed |

Define randomized block design (RBD)
ATEEH GUSH ARSI Bl URATTT BT |

Explain the efficiency of RBD relative to CRD.

quiqar  Argfedd  Affdeu (CRD) &1 Jol H IgRogpd WvsH
ATf¥heT=T (RBD) &1 Te1aT Bl FH=SY |
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Q. 06

Q. 07

Q. 08

What do you understand by Latin Square Design. Write its advantages and
disadvantages.

oifes T s1fidmenr &1 aRaTog I Ud 59 o Ud BIfH & foaRay |

Write the main and interaction effect of 2° factorial design.

2" IgSuUTeTl AfGeUAT B Y qT g T A @Y foRad |

Detfine Confounding.
HPHIOT DI GRS BT |

[Section - (]

This section contains Essay Type Questions. Attempt any two questions in this section in
500 words each. Each question carries 10 marks.
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Q. 09

Q. 10

Q. 11

Q. 12

Explain fixed effect model of two way classified data with M-observations
per cell. Give its ANOVA table.

gfaes M Ul & 91 fgen oified wHel & fod Rer wg el &l
AHAZY | 3BT ANOVA ¥R B S |

Describe fundamental principles of Design of Experiments.

UifTe Affee T & Hifere el &1 o= &Y |

Explain the procedure of obtaining the estimate of one missing observation

in RBD.
agfted WUed SifdedHT (RBD) # afe ts U &1 w9 A faar a1 7
Tl TP JBTT HF BT TOHET B BT UlhAT BT I BT |

Derive the formula for estimating one missing observation in a Latin square
design. Write the ANOVA, table for this case.
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